
Rechnen mit Zahlen und Variablen Aufgabe 54 
 

 
Polynomdivision: 

 
(a³ - b³) : (a - b)    

                                                

  (a³ - b³) : (a - b) = a² + ab + b²  

- (a³ - a² b)                                        

  -------------- 
          a²b  -   b³ 

       - (a²b -  ab²) 
      ------------------- 

                     ab² - b³     
                 - (ab² - b³) 

                   --------------- 
                              0  

                                   
 


